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0 2.1: Feynman diagram.
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0 2.2: Feynman diagram.
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3.5 TQOO

gb,gbobobbooboaobodaboobuoobooboboooboobooog.

3.5.1 TQOO

NalOOOOOOOOODOOO0OO0O00O0000000. TDCO start 000000000 DOO0O discriminator
O threshold 0 O0O0OO0DOOOO0DO,0000000000,000~000000000000000D0OC0O0O
0000000000 0”’ATO0000 (03.6). 000,000000000000O0OOOO,00000O0
OO0000O.0o0ooo0ooo’0g’ATooo000o0oooo0oO0ooDooOooOoooo.oDoo0O0O0 TQEUO
gooo.

time

V threshold
T
AT
AT

0 36: NalOOOODODOODOOOOODOO. ODOobOOoOooOoboOoooooobooooobon.

3.5.2 TQLOOO

00,TQDOO0000D000,AT=AT(E)(E:v0000000)0000000000000. 00,00
00000,00000000000000. 000, peak00000,00000000000000000C
00000O000. 0,00007,000000VOOD,000000000000000000000. O
000 peak O T = Tpear, V = Vpear 00, threshold 0 V, 000. 0000000000000000 ATOO
0 (03.7). 03700,

16



0 AT time

Vo threshold

(Tpeak,Vpeak)

037 TQUODOOOO.

1%,
70Tpea A

AT =
Vpeak

000.000000, TpearVo=const 000, 00000000y 0000000 EO, V0000000,

1

000.0000,000000000000000 (00D),000000(@UO)D00O00,000000

gboocobooboooon.

AT(E) = (E_p#)m +ps (3.1)

000, pi(i=0,1,2,3)0 parameter 000, 0000000000000000,00000000 fitting O O
O000.000,000000000000000.

3.6 pick-off 0 [
3.6.1 pick-off 0 OO0

00000 oo-PsOOD0D0OOODODOOOO p-PsO0D0,2y0000000000.
e pick-off 00O
— bPsOOOOODOOOOOOOO,0D0000.

e JOODOOODO

- bPsOOO0OO0DOOO0OOODOOOO,000000000O.

e NOODOOODOODO

17



- bPsOOO0OO0OO0ODOODOODOOOO,000000000O000D0O00D. OO0 PsOOODOOO,
gboooooooooooon.

OO000,00000 o-PsO00,p-PsO000000D0 o-PsO00D0DO000DODOOODOOOODDOOODO,O
ooooooOooooO.bOOo000obOOob000ooOoo0O00ooObO000ODDO,00000 pickoff0DDOOO.
Oo0ob00oo0ooo0oooooOd,oe-Ps 3yOODOODOODO,p-PsO000o-PsO00000O0D0OOO p-Ps
0000000 2y000000. 000 2y00000 compton 000000 51lkeVOODODOOOODOOOO
gbooobO.0ooooobooboooobobooooooa.

3.6.2 pick-of OO OOMO

p-PsO00000O0O0O00O0O00ODOO0OO,0000000000000O0,p-PsO000000O000O 2v00
oo,0b0000b00000o00ob0oooooboboooooboobo.gb,e-PsObobooooDOon
00,3y 051lkeVO000O0O0O0O0DOOOOOD. OODOOO0DOODOOO0DODOO,0000DO030D0O00
oboooooboooo 3yOoooobOooOooooobooooooboooooboooboooo.

oo,000b0o00obooboooobooboobooboboobo0obbo . oboboooboboobooboboboobo
Op-PsOO000O000ODOOOOODOOOO.O0ODOOOODOLOOOD yOODO.ODODODODOODOD
O00000o-PsO0O000D00OOOO0O00O,3y0OBllkeVOOOOODODOOOOODDOOOO, 511keVOO
OO00o00O0O000O0o00boO0oO0 2¢y0000,511keVvO0OO0O0O0O0OOO0OO0DOODOOOO compton 00O
ooo0boPsO 3yODODOOOODODOOOOODODOO.

00,2y0000000C0000DOO0OODO0OOCOO0O .000D0D00OD0O 511keVOOOOOO b11kev OO
gbobOooooboobobooooobooboooon. vyobobo 2y000o0oboobooboooooon
00,51lkkeVOO00O0OO00O0 comptom OO0 0000000000 COO00OD. OOD0OO0ODOOOODO 2v0O
51lkeVO000O0O0O0OCO0DOOOOCOOODOOOOOOODOOOOOOODODOOODOOODOOOODOODO.
bt 2y0b0o0o0ooboobooooobooog.

O00,0000000000000 2y0000000000D00O o-PsO 3yOOOODOOOODODODOOO
ooo.

3.6.3 pick-ofUODDODOODO

0000000000000 000000000000000000 f¢)0000,00000000000
00000 fittingDOODOOOOODOO.

000000000TQOOOO0000000000 Ly, 0-Ps0 3y000000000000 Lorehe, 10
000000000 Cpek—of; 0000,

Fobs = Fortho + Fpick—off

00000000.00¢000-PsO00000,3y000000000000 ANpick—ors(t), ANorno(t)0 00,

f(t) _ Fpickfoff _ ANpickfoff(t)
Fov”tho A]Vortho (t)

00000000, 00 ¢00 511keV peak 0000000 ypear(t), 0000000 S¢)O0O00. DO0OO0OO
oo,

ypeak(t)s(to)
ANpick—off(t) = ——"——
pick—of f(t) Ypoer (fo)
ooo,
ANpick—off(t) Ypeak (t)S(to)

1) = S(t) = ANpick—orf(t)  Ypeak (t0)S(t) = Ypear (t)S(to)

18



000.000000000000,
t
f(t) = po exp (p1> + P2 (3.2)

O fitting0000000000000000. 00, pi(i=0,1,2) 0 parameter 00 0.

3.6.4 pick-offUODOOOMO

o-Ps0 3y0000000 7mpe 00,00000 ft)yOOOO

1+ f(¢t
Fobs = Fortho + Fpickfoff = FOTthO(l + f(t)> = 7—7‘];()
ortho
O000O0,00¢0000 o-PsO00O N()ODOOO,
AN (t N(t
dt( ) —N()(Cortho + Cpick—off) = — W L+ 1))
Tortho

oooobo.oooooao,

1 t
N(t) = exp (— /(l—l—f(t/))dt/)
Tortho
god.ogooooobooooono,

AN (t)
St

NM1+f@»mp<%;w/%l+fw»ﬁ>

O00.00000 NgOOOO. 000 fitting parameter ¢;(¢ =0,1) 00000, background 00000 (g2 O

0),
AN (1)

1 t
i =+ f0)e (<o [ e ) e (33
O00,0000000R0 fittingODOO.

N ppoOO00D00000000000, ;0 pickof 100000000000
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40 0Oootood

4.1 Calibration

4.1.1 ADC Calibration

[]

ADCO,0000000000000D0000CODOO00O0OODOoOoD4095000000000. 0000000
OoOO0 ADCOOO0O0OO0O00000000000000000O0O0OOOOOOOODOOOOODO 41000 4.2
gooooooo ADCOO00oooooooooOooOOoOOOoDOOOO.yOOOOOODODODOD ADCOO
oooooooooooooooo,bbeb0OoOO

(y0ODOOOOO (keV)) =ax (ADCOOOO)O b (4.1)

O00,pPs00000000D00O00~D0000000DO 511keV, 00000 0keVODOOOOODO NalOOO
OO0000O00O0000000O0.00000 ADCO histogram 000000 Gaussian O fittingO0 OO0 00O
gooooOoOoOoOoOoOoODO ADCOOOOOOOO.ODO0DODODODOOOOOg.

0 41: ADCOO0ODO0OO0OO0OODO0OO (keV)OOO

OO0 | OkeV | 511keV
Nall | 215.1 826.8
Nal2 | 192.9 752.8
good,obbbobooooooboob.
E,(keV) = 1.197 x (ADC1 — 215.1) (4.2)
E,(keV) = 1.096 x (ADC2 — 192.9) (4.3)
fittingOOOOOOOODO.
ADC1 ADC2
E -m: Ei mesm'azasz z 250-“": Emrle.smﬂ'EZEEZ
= G | o
”E ‘JE-;\JlLt;m mn inlm 3“5"09 m:m ": _J:J;-:JLOG mn snlm ELQB m:m

ADC channe|

0 4.1: ADC1O0000000O00O0O

20
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Pedestal Fitting 1 Pedestal Fitting 2

10° hist1 10° hist2
B0 - €nE -
a o Entries 4615782 éﬂﬂ - Entries 4615782
o r Mean 2151 ° Mean 191.7
800 o
I AMS 1.231 350/ AMS 3.585
I 22/ ndf 1.618e+05 /14 F ¥2/ ndt 4.129e+05 /72
700 F
F Prob 0 300 Prob 0
s0ob- Constant 8.174e+05 = 9.364e+02 r Constant 3.719e+05 = 4.001e+02
5 Mean 215.1£0.0 250: Mean 192.9£0.0
500f- Sigma 0.943 + 0,001 E Sigma 1.619+0.001
F 200
400F -
: 150
300F -
200f- 1001~
100f 50[-
T == AR PP =t P T SRR PSP/ T 1 N PR B B
206 208 210 212 214 216 218 220 222 224 175 180 185 190 195 200 205 210
ADC count ADC count
O 4.3: Nall O 5pedestal O fitting 0 0 O 0 4.4: Nal2 O pedestal O fitting 0 0 O
511keV Fitting 1 511keV Fitting 2
- e e hist2
2@00 hist1 35@00 - Entries 4615782
© Entries 4615782 o Mean 763.3
M 813.1 L
ean 30000( AMS 38.62
AMS 4265 - ¥ ndf 1.0016+04 {47
20000) 42/ nat 3108147 - Prob 0
Prob o 250001~ Constant 2.797e+04 + 4.055e+01
Constant 2.174¢+04 + 3.378e401 o Mean 750.8+0.0
15000 Mezn 826.8+ 0.1 20000 sigma 27.17£0.04
Sigma 29.52 4 0.06 -
i 15000(—
10000 L
i 10000}~
5000
5000}/
-IIIIIIIIII|IIIIIIIIIIIIIIIIIIIIIIIIIIII -IIIIIIIIIIIII|IIIIIIIIIIIIIIIIIIIIIIIII

700 720 740 760 780 800 820 840 860 880 900

ADC count

0 4.5: Nall O 511keV O fitting 0 0 O

4.1.2 TDC Calibration

700 720 740 760 780 800 820 840 860 880 900

ADC count

0 4.6: Nal2 O 511keV O fitting 0 O O

TDCO start 00O O0O00OO0OO0OO stopO0O0O0O0O0DOOOODOOOODOOOOOOOO409% 000000
O0.0000000 ThCOOOOOOOOODOODOUOOODOO0ODODOODOOODO 4700 490000000.
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TDCA TDC2

a0’ nie 10" e
T F Entries 582882 E E Entries 582852
5 aof— Maan 2395 5 - Mgan 1995
- RMS 1842 300 RMS 1829
zs0f~ 250:—
af 2o
150~ ,50:_
1nof- ol
sof- sof-
s — U: —
500 1000 1500 2000 2500 3000 3500 4000 500 1000 1500 2000 2500 3000 3500 4000
TOG channed TOG channel
047 TDClOOO0OO0OOODOOOOOOODO 048 ThC200000000O0OO0OODOOO
TDC3
=10 htemp
E ooof- Entries 562882
:§ = Mean 3642
1a0F- RMS B48.6
160~
130
120~
100f-
aof—
60 f—
I
2
g : ] ] ] ] ] ] 1
a a00 1000 1500 2000 2500 3000 3500 4000

TDC channal

049 TDC3OOOOOOOOOOOODOO

TOCOO0OoOoooooooooooooooooooo. og,0000000000000000000O0O
gooOoo TbCO hchOOOOODOOOOOOODODDO.

10000000000 start 000 OODDO fixed delay O gate generator 0 delay D000 stop 0000
ogoo.0000000000 20000000,000000000O0O0O0O0O0DOOOOOOOODOOBOBOOO
00000 delay0OOQO0O. 100, 200, 300, 400, 800ns 0 5000 delay0 00O, 000000 ThDCOOOOO
O.0460000000000D00D000.

OO0O0000 TDhCOO,000 delay00D0OOCOO0OO0ODOCOOODOOOODOOOOODODOO

TDC = p;ytime + pg
(p1, po O parameter) 00D 000OO fittingOO. 000000 410000. 00000
time = 0.251TDC — 12.7 (ns)

googooog.

OO0000o0o0o0oooo,00ooogooo ThCO start 000 stop0O00OO0OOODOOOOOO, TDC
dooooooooooooobOobOOooDOooOooDo0ooo0ob. oo, 0b0o00oo0O0ooDoooo, TbCcooo
4095000 OnsO OO

time = —0.251TDC + 1027.8 (ns)
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042 TDCODOOODOODOOOO
delay(ns) | TDC

100 447.3
200 846.905
300 1247.66
400 1648.22
800 3238

00000 calibration O O0O.

TDC Calibration fitting

8500

S

3000
2500
2000
1500

1000

500

100 200 300 400 500 600 700 800
time (ns)

0 4.10: FittingO O O .

Calibration 0 00000000000 0O0O histogram 0O 0000,

2d hist 2d hist
— 1000 __h
Entries 1995936 [ Entries 2518500
© | Mean x 531 g Mean x 556 |+
“ | Meany 97.84 &= |Meany 102.3
RMS x 3134 800 RMS x 282.2
RMS y 205.6 218.3

10°

|

J
o
|

|

|

RMS y

1
0 500 1000 1500 2000 2500 3000 3500

|
3000 3500

energy (keV) energy (keV)
O 4.11: Calibration 00000 O0O00D0COCO 0 4.12: Calibration 0O O0O0O00O00OOO
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4.1.3 TQOO
TQUOOO

3500000 TQULOOUOOOO. (p-Ps000000000COO0OODO)0D00O0O0OOODOO binO 0.08
00000000000000 TQUOOO (3.1)0 fittingODOOO. DOO0OOOOOO.

043 TQDODOOOOOOO
Po P b2 p3
Nall 1932+ 907.3 126.8+ 32.77 0.7964+ 0.1142 -7.701+ 4.819
Nal2 1062+ 139 153.1+ 31.36 1.217% 0.2402 -2.487+ 2.119

Fitting 1 Fitting 2
fit1 fit2
7200 Entries 2036337 700 Eniries 2550901
oanl Mean x 486.1 = Mean x 495.4
2180~ Mean y 10.68 2180/~ Mean y 6.703
= r RMS x 60.61 {3 = or RMS x 50.93
160— RMSy 4.899 160 RMS y 4157 P°
E 2 /ndf  7.453e+006 /779 F %2/ ndf 6.4350+006 / 578
140— po 1932 +£907.3 140 po 1.062e+004 + 1.39e+004
F pi 126.8 +32.77 F pt 153.1+ 31.36
120~ p2 0.7964 +0.1142 120 p2 1.217 £ 0.2402
C p3 ~7.701+4.819 |2 C p3 2487 2.419 |
100[— 100 (o
80— 80—
oE 10 F 10
40— 40—
20 201
G:\ L1 ‘ ] | ‘ ] | ‘ | N | ‘ ] N | S 1 G:\ L1 ‘ ] | ‘ ] | | ] | ‘ | I | 1
0 200 300 400 500 6 0 200 300 400 500 600
energy (keV) energy (keV)
0 4.13: TQOOOODO fittingD OO 0 4.14: TQODODODO fitting 0 0 O
2D hist1 2D hist2
_1000 hist1 _1000 hist2
2 L Entries 1995936 2 L -1 Entries 2518500
< L Meanx 4127 e |
E } Meany 5402 E }
T 800|— "7z, 2 800[—
s r 166.7 s r
g | g |
600(— 600(—
- 10° .
4001 4001—
2001 10 200}
o o—
L1 A N BN BRI ] L A Ll bl
0 100 200 300 400 500 600 0 100 400 500 600
energy (keV) energy (keV)
0 4.15: TQLDUOOOOOODOODOOOO 0 4.16: TQLOODODODOOOOOOOO
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044: TQUOODOODOOD fittingOD OO ODOO
Po P b2
Nall 6668+ 220.4 86.08+ 1.66 1014 4.6
Nal2 7358+ 224.5 89.86+ 1.66 1282% 5.3

TQODOOOOO

OO000,0000000C000o0PsO00D0O00DOOCO0ODOOD. OO0DOOO,pickoff00OOOOOO
gbobooboobooooobooooooon.

Nall : 86.08 ns
Nal2 : 89.86 ns

4.1.4 pick-off 0 0
pick-off 10 O 0O

600000, (L, OOO0OOOO0O-ms00 HnsO000000000O0,8mns0O0 680nsO000 50nsO0OO0OO0O
0000000 pick-off 000D (3.2)00000. 00000000,

0O 4.5 f(t) 0O fittingO OO OODO
Po P1 D2
Nall 4.448 + 0.121 99.75+ 8.395 0.2172+ 0.01136
Nal2 1.014% 0.07882 109.4+ 9.33 0.199+ 0.009024

fitting 1 fitting 2
.9 ¥/ndf  0.006813/10 _ ¥ /ndf  0.003736 /10
=" r Prob 1 0.7 Prob 1
r po 1.448+0.121 i po 1.014+0.07882
U-B:_ pt 99.75+8.395 C pt 109.4+ 9.33
F p2 0.2172 £0.01136 0.6~ p2  0.199£0.009024
0.7 I
0.6 0.5_—
0.5F -
N 0.4
0.4f L
0.3
0.3~ -
0.2f 02
NI I PP PP I PP I O AP I PP PP I IETETIP ISP I
100 200 300 400 500 600 700 100 200 300 400 500 600 700
time (ns) time (ns)
0 4.17: Nall O pick-off 0 00O OO fitting 0 4.18: Nal2 O pick-off 0 0O OO fitting

gboooooood

0000 pickof 0000, 0 (3.3) 0000000 fittingO OO O.
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0 4.6: 000 fittingOD OO O OO
do Q1 q2
Nall 2028+ 41.9 150.1+ 3.2 9954+ 5.2
Nal2 2690+ 55.2 144.2+ 29 1264+ 5.9

Life Fitting 1 Life Fitting 2
B hist1 . _ hist2
g Entries 1165107 § Entries 1355945
©3000 Mean 396.5 "3500 Mean 399
: RMS 212.5 N RMS 212
¥ /ndf  105.9/97 r x*/ndf - 89.39/097
. Prob 0.2522 L Prob 0.6961
25001~ PO 2028 +41.9 30001~ PO 2690 +55.2
p1 150.1 £3.2 + p1 144.2£2.9
p2 995.4 +5.2 i p2 1264 +5.9
- 2500(—
2000}~ i
r 2000
1500 i
1500
1000~ C
N I TN R I T I I PPN P NI AP N
100 200 300 400 500 600 700 800 100 200 300 400 500 600 700 800
time (ns) time (ns)
0 4.19: Nall 0 OO fitting 0 4.20: Nal2 00O O fitting

OO000,0000000000o-PsOOOOO0DOOOODOO.

Nall : 150.1+ 3.2 ns
Nal2 : 144.2+ 2.9 ns
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50 o

5.1 ~rU00Oooooooog

000 histogram D000, 1275keVOODOO0DO00O00000, 000 ®NaOOO~A0000000O000. O
OO0 compton00000D000O0O0O000O0DO. Ob5.1005.20 1275keV peakD000000D00OCOOOO
0b0o0ob0o,00000000000 Nall20000000000000000000. 0D0O0DODODOO
oo0O0O00000000Oo0O0O00.000,0000 compton00000 51lkeVOOOOODOOOOOOO
OO0 fitting0 OO back ground 0000000000, 0000000000000O0O0O0O0O0O0O.

TDC3 {ADC1>1550&&ADC1<1800} TDC3 {ADC2>1550&&ADC2<1800}

hist hist
Entries 96073 £ 160 Entries 54497
Mean 3270 8
RMS 1167 140

count

Mean 2176
RMS 1093

250

200

150

100

50|

o
=3
I I I
I I I I I I I I

PR PR B BT BT ST ST R M PP R PRI BT SR ST A
500 1000 1500 2000 2500 3000 3500 4000 500 1000 1500 2000 2500 3000
TDC count TDC count

P PR
3500 4000

0 5.1: Nall O 1275keV OO OO0 O0OO O 5.2: NalO 1275keV OO O0O00OOO

5.2 ADC20 pedestal D D OO O00OOO

Nal2O ADCOOODO pedestal 0 18100 187(ADC count) 000000 OOOOOOODOOOOODOOOO.
obooooobooooboboooobobooooboobooooobob.

0000000004000 Nal20 pedestal 0000 0O 530000,00000 195(ADC count) 000
00000000000 18100 187(ADCcount) 00000 4400000000000. Nal2OOOODO
ADCO 18100 187(ADCcount) 0O 0O0OO00ODO0OOOU0OOOOOOOOOOOODO TDCOOOOO 54
gooo,b0o0oboo490b000bo0boboooboobbo.0oobbobooOo,oobboobobooobobOoo
O0D000O0OO0Opedestal 00O OOOOOOOOOOOOOOOO0O0O0000O0O0OOOOOODODODO ADCO
2ch00000000O0O0DCOO,00000000O0DDOOODODDOOO.

0000, Nal20 pedestal 0000000 18600 200(count) 00 0000000000000 0OODODO fitting
0,0b0000bdb0 cut0b0o0ooo,00b00b0O0oD0ob0boOn.
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TDCPS {ADCNal2>180&&ADCNal2<188}
ADCNal2 hist
hist Entries 33443
Entries 582882 Mean 3632
Mean 191.4 RMS 842.1
RMS 3.381

count

z
5
85000 3500

40000 3000

35000 2500

30000
2000
25000

20000 1500

15000

10000

1000
L L 1 1 1 A 1

500
0 L
1 1 1 500 1000 1500 2000 2500 3000 3500 4000

180 185 190 195 200 TDC count
ADC count

5000

]
@

o

O 5.4: ADC count 181-18700000000COOO0O

053: 000004000 pedestaldO0O.
ooooooooo.

53 UUOLOoboooooon

0000000, positron0 0000000000 O0DOOODOOOODOO positronium 000000 O, positro-
nuim 0000000 ~00000000DO0O, positrond yOODODDODOOOODDOOOODO. DODOO0OO
em00000,00000 (~107%m/s)0000000, ~0.ns000000000000O0O00O. OO0
para-positronium 00 0O (~0.1lns) 0 Ons D000 00000,0000000000000O00O0OO0OOCOO
O.00, positron 00000 positronium 000000000000, TQODOODOO para-positronium O O O
000 onsO000000000000,0000000000000000° 1.

54 0UUOO

Oo0o0000, fittingDOOOO000. TQOO, pick-of 00, 000000 fittingODOO. O fitting 0 O,
go,000b000000000,0000000000000O00O0O00DOO0.000O00,0000D00000¢0O
obooooobooooobooon.

54.1 TQLOOOOOOO

TQUOOOOODOOOOOO.

_ Po
AT(E) - (E—p1)p2 +p3

O parameter 000000 6p, 00D0O000,ATO00D00O0O0ODODO T+6(AT)ODDOODOOOO,

)

=0

S R— (6170)2 + ( P2 5p1>2 + (log(E — p1)dp2)? + <W5P3>2
(E — py)p2 Do E—p Po

O00.000000000 TQUUOO AT+6(AT)000U0,TQUOUOO,000000O0O0OO,0000
0000000000.0000AT0O000000000000000000, AT+(i/4)6(AT), (i=0,1,2,3,4)
0TQOOUOODOOO,0000000 (pickof 0ODDOOOOOOO). O0OODOb5.1000.

000000, TQUOOODODODODO0DODO0DOODOoOQg.
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051: TQUOOOOOOOOOODO (O0O: ns)
5 -(3/4)5 -(1/2)5 -(1/4)5 0 +(1/4)5 +(1/2)5 +(3/4)5  +6
Nall 57.94 5658  56.37  56.38 86.08 53.77  53.04 5272  84.82
Nal2 57.67 6223  62.23 5435 89.86 61.58 5877 5520  89.74

TQOOO fittingDOODOOOODOOO, 000000000 bB100000DO0DO000DOO,O0D000O
gooooad:

Nall : +0ns -33.04ns
Nal2 : +0ns -35.51ns

000,000 fittingOOOOO 6p; (¢ =0,1,2,3) 0000, ATO0 (AT)O0D0OODOOOOODOOOOO
ooo0o,00000 TQLOOOOOoooooOoooooO.booo0ooooo0oooDoooUoDooog
goooo,000000ooooooooooo, TQUOoo0o00oooooooooo0g.

5.4.2 pick-of UODOOOOO

Pick-of 0O0DO0O, 000 fittingODODDOOOODOOO.

= mew(-L)+n
o) = a(l+ F()exp (—ql / 0+ f(t’))dt’> e

op; DO0DODODOO0OODO. 000O0OOOOoDO égO,

Kﬁ
—~

~+
=

- & s () [fon () 42 omm () ) )
frow (50) G 0o) Comon (55) )}
+ { (1 — qil (1 + po exp <_pt1> +p2>) (5p2}2‘|

000.000000000,000 fittingd ¢+6¢00000000000000. TQDOOOOO,000
0 f#)0000000000000000000, g+ (i/4)dg, (i =0,1,2,3,4) 0 fittingDOOOO, 0000
oog.

0 5.2: pick-of DOOOOOOO (OO: ns)
S5 -(3/4)5 -(1/2)5 -(1/4)5 0 +(1/4)5 +(1/2)5 +(3/4)5  +6
Nall 143.8 145.4 147.0 148.6 150.1 151.5 153.0 154.4 155.7
Nal2 139.7 140.9 142.0 143.1 144.2 145.3 146.3 147.3 148.3

Pick-of 0O 0O fitting O OO OODOOOODO, 000000000 620000000000000,000
oooooooo:

Nall : +5.6ns -6.3ns
Nal2 : +4.1ns -4.5ns

00, pick-of 0ODOO0O sampling 0000000 OO0OOOOO.
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5.4.3 U0O0OO0OODOOO
OO0000 fittingOODOOO, pickoff 00000 fittingODOOOODOOOOODO,

Nall : +6.5ns -7.1ns
Nal2 : +5.0ns -5.4ns

0000. 00,0000 TQOOO fittingDJO0OOO0OO0DO0O, pickof 000000000 sampling0O0000
ooooooo.
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el OO0

Ortho-positronium 0 0 00, Nall, Nal2 00000000, 150.17%%ns, 144.2"3 s 00000 L, 0000
00000,00000000000 14727 Pns 000000000. 000000000000000000
0000000000000, 00,020000000 QEDOOOOOODOOO Ortho-positronium O 0 0 0
00000000 1399ns 000000000 2000000000000000000,0000000 QED
00D000000D00O0D0DOoO0.

HEN

ooooooOoOoooogoOo,0ooood0,0gooogoooo00ooo, TADOODODOO,000
goooooooon.

00000000000 000000000000000000000.0000
0000000000000 142ns
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